UNEEK

AUSTRALIA
OFF ROAD ACCESSORIES

Jeep JK Wrangler 2007 on
A Pillar High Lift Jack Mount

Australias Best Off Road Producis
Created... Nof Cloned




Contents

WHY UNEEK

IMPORTANT INFORMATION
COMPONENTS AND PARTS
STEP 1

STEP 2

STEP 3

STEP 4

FINISHED PRODUCT



Why Uneek

Australian Designed and Built

All our products are designed and manufactured right here in Australia, allowing us to have
better lead times and better quality control than companies manufacturing overseas. By
supporting us you’re supporting to grow the Australian economy and our brand.

Uneek Styling

We do not design our bars to look the same across the vehicle range. We fully develop our
own product to individually suit each vehicle. We take time in designing from scratch and
then test all our bars to comply with all relevant ADRs and Australian Standards.

Lightweight Through Smart Engineering

Having a steel bar doesn’t mean you have to add more weight than is required to the front
of your vehicle. Our engineering practises ensure we have the right protection, designed the
right way to ensure protection is at its maximum and weights at its minimum.

Proven Off Road

We take our products out and test them right here in the heart of our country in our
Australian conditions so we know our products can withstand anything you throw at them.

Increased Approach Angles

Our bars are designed to give you the best advantage while off road, with increased
approach angles means you can tackle those tough and steep angles better than you could
with the original setup or other alternatives.

Warranty

Uneek 4x4 back itself as Australias leading steel bull bar manufacturer. This is why we
provide you with the best steel bar warranty in Australia - 5 years.



Important Information

A PLEASE READ BEFORE INSTALLATION.

e This product must be installed exactly as per these instructions using only
hardware supplied.

e These instructions are correct as at the publication date. Uneek 4x4 Pty Ltd cannot
be held responsible for the impact of any changes subsequently made by the
vehicle manufacturer.

e During installation, it is the duty of the installer to check correct operation/
clearances of all components.

¢ Installation time is estimated at 15 min.

e This part requires you to have a slider with a step arrangement to support the
bottom of the jack. While you can just rest the jack on this step it is best to secure
it to the step by drilling and tapping your step, or using a u bolt.

e Make sure you use a Hi lift jack isolator to prevent the jack from vibrating.

e Itis recommended to rest a rubber pad under the jack to reduce the chance of
vibration.

p,@‘ EYE & EAR PROTECTION REQUIRED
NS

DRILLING REQUIRED

e

TWO PERSON LIFT REQUIRED

TORQUE SETTING

CUTTING OR GRINDING REQUIRED

e (OG]

FASTENER TORQUE SETTINGS:
M6 — 9Nm (4lb ft)
M8 — 22Nm (16lb ft)
M10 — 44Nm (32Ib ft)
M12 — 77Nm (57Ib ft)

TOOLS REQUIRED:
Hand spanners and torque drivers.



Componenis and paris

ITEfA MO, PART HUMBER DESCRIPTION %_
] JE-HL-A-1 YANDSCREEN MOUMT 1
2 JE-HL-A-AS5M1 AT O NUT PLATE 1
3 M1 0-1.5 2 50 M1 Om50 HEX BOLT Z/F 5.5 2
4 il OF W 25 rAT D FLAT WASHER ¥ 25040 9

WWIDE
3 M1 0 SPRIMG WasSHER 2
& M3 SPRIMG YWASHER MG SPRIMG YWASHER 2
i M3 YASHER MG WASHER 2
i MG =30 MG ¥ 30 HEX BOLT ZIMC 2
e 5L 130 & 180 K 140 SHIPPER 1

10 JE-HL-A-F FITTIMG INSTRUCTICHMS 1




Step 1

Remove the lower 2 bolts on your A pillar with a torque driver.

Step 2

Place new bracket on A pillar and torque up 2 M8
bolts and washers.

Step 3

Place Hi Lift jack on your slider/step and feed bolts in
through holes and line up with nut plate behind
bracket and torque up.

Don’t forget a Hi lift jack Isolator or even a cable tie to
secure your handle.

Uneek 4x4 highly recommends pushing down on the
lifting platform of the jack with your foot while doing up the M12 bolts. This is the best
method for preventing rattles.

Step 4

Drill and tap your slider/step or use a U bolt
underneath to hold the jack down.

If you skip this step your jack may get ripped off when
going off-road.

We suggest using a rubber pad under the jack to
prevent rattles

Most rattles come from the jack itself, not the mounts.
Uneek 4x4 highly recommends pushing down on the lifting platform of the jack with your
foot while doing up the M12 bolts. This is the best method for preventing rattles.



Finished Product




Revised: 27/08/2019

Australias Best
Off Road Producits
Created... Nof Cloned 1800 806 952

www.uneek4x4.com.au



